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Passage 1

Let children learn to judge their own work. A child learning to talk
does not learn by being corrected all the time:if corrected too much, he will
stop talking. He notices a thousand times a day the difference between the
language he uses and the language those around him use. Bit by bit, he
makes the necessary changes to make his lauguage like other people’s. In
the same way, children learning to do all the other things they learn to do
without being taught to walk, run, climb, whistle, ride a bicycle compare (.
) their own performances with those of more skilled people, and slowly
make the needed changes. But in school we never give a child a chance to
find out his mistakes and correct them for himself. We do it all for him. We
act as if we thought that he would never notice a mistake unless it was
pointed out to him, or correct it unless he was made to. Let him work out,
with the help of other children if he wants it, what this word says, what the
answer is to that problem, whether this is a good way of saying or doing this
or not.

If it is a matter of right answer, as it may be in mathematics or
science, give him the answer book. Let him correct his own papers. Why
should we teachers waste time to such routine work? Qur job should be to
help the child when he tells us that he can’t find the way to get the right
answer. Let the children learn what all educated persons must some day
learn, how to measure their own understanding, how to know what they
know or do not know.

1. According to the passage, the best way for children to learn things is by

A listening to skilled people’s advice
B. asking older people many questions
(. making mistakes and having them corrected
D. doing what other people do

2. Which of the following does the writer think teachers should NOT do?
A. Give children correct answers.
B. Allow children to make mistakes.
C.Point out children’s mistakes to them.
D.lLet children mark their own work.

3. According to the writer, teachers in school should
A.allow children to learn from each other
B. point out children’s mistakes whenever found
C. correct children’s mistakes as soon as possible



D. give children more book knowledge
4. The passage suggests that learning to speak and learning to ride a bicycle
are '
A.different from learning other skills B. the same as learning skills
C.more important than other skills D. not really important skills
5. The title of this passage could probably be
A.Let Us Teachers Stop Work
B.Let Us Make Children Learn
C. Let Children Correct Their Exercises
D.Let Children Learn by Themselves

Passage 2

Faster Effective Reading

/Words:302 Minutes: 7.5/

A higher reading rate, with no loss of comprehension, will help you in
other subjects as well as in English, and the general principles apply to any
language. Naturally, you will not read every book at the same speed. You
would expect to read a newspaper, for example, much more rapidly than a
physics or economics textbook-but you can raise your average reading speed
over the whole range of materials you wish to cover so that the percentage
(& 4+t )gained will be the same whatever kind of reading you are concerned
with.

The reading passages which follow are all of an average level of
difficulty for your stage of instruction. They are all about five hundred
words long. They are about topics of general interest which do not require a
great deal of specialized knowledge. Thus they fall between the kind of
reading you might find in your textbooks and the much less demanding kind
you will find in a newspaper or light novel. If you read this kind of English,
with understanding at four hundred words per minute, you might skim( 3|
¥8) through a newspaper at perhaps 650-—700, while with a difficult
textbook you might drop to two hundred or two hundred and fifty.

Perhaps you would like to know what reading speeds are common
among native English-speaking university students and how those speeds
can be improved. Tests in Minnesota, U. S. A., for example, have shown
that students without special training can read English of average difficulty,
for example, Tolstoy’s War and Peace in translation, at speeds of between
240 and 250 words perminute with about seventy percent comprehension.
Students in Minnesota claim that after twelve half-hour lessons, once a
week, the reading speed can be increased, with no loss of comprehension, to
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around five hundred words per minute.
1. According to the passage, the purpose of effective reading with higher
speed is most likely to help you
A.only in your reading of a physics textbook
B.improve your understanding of an economics textbook
C. not only in your language study but also in other subjects
ID. choose the suitable materials to read
2. Which of the following does not describe the types of reading materials
mentioned in the second paragraph?
A. Those beyond one’s reading comprehension.
3. Those concerned with common knowledge.
(. Those without the demand for specialized knowledge.
). Those with the length of about five hundred words.
3. The average speed of untrained native speakers in the University of
Minnesota is
A. about three hundred words per minute
B. about two hundred and forty-five words per minute
C. about sixty words per minute
D. about five hundred words per minute
4. According to the passage, how fast can you expect to read after you have
attended twelve half-hour lessons in the University of Minnesota?
A. You can increase your reading speed by three times.
B..No real increase in reading speed can be achieved.
C. You can increase your reading speed by four times.
D. You can double your reading speed.
5. Where do you think the passage is taken from?
A. The introduction to a book on fast reading.
B. A local newspaper for young people.
C. A school newspaper run by students.
D. The introduction to an English textbook.

Passage 3

A poor traveller stopped under the tree to eat the boiled rice and
vegetables which he had brought with him. A few metres away, there was a
small shop by the side of the road where a woman was frying GHi4£) fish and
selling it to travellers. The woman watched the poor traveller carefully, and
when he finished his food and began to go, she shouted rudely, “You haven’
t paid me for the fried fish!”

“But I have not had any fried fish! "he said.



“But everyone can see that you enjoyed the smell of my fried fish with
your rice and vegetables, ”said the woman, “If you had not smelled the fish,
your meal would not have been so pleasant! ”

Soon a crowd collected, and although they supported the poor traveller,
they had to admit that wind was blowing from the shop to the place where
he had eaten , and that it had carried the smell of the fried fish to him.

Finally, the woman took the poor traveller to a judge, who said: “The
woman says that the traveller ate his meal with the smell of her fried fish.
The traveller agrees that the wind was blowing from the woman’s shop to
the place where he ate his rice and vegetables and that it carried the smell of
her fried fish to his nose while he was eating, so he must pay for it. What
does your fried fish cost?”he asked the woman.

“Twenty-five cents a plate, "she answered, delighted.

“Then go outside together, ”said the judge. “There the traveller must
hold up a twenty-five-cent piece so that its shadow (¥ F) falls on the
woman’s hand. The price of the smell of a plate of {ried fish is the shadow of
twenty-five cents.”

1. Why did the traveller refuse to pay the woman for the fried fish?
Because .
A. he was poor B. he was rude
C. he was supported by a crowd
D. he hadn’t eaten her fried fish at all
2. When the judge asked the woman a question, she felt
A excited B. anxious C.glad D. angry
3. Which of the following statements is true?
A. The traveller bought the boiled rice and vegetables and ate them by the
side of the road.
B. The judge had no idea what the woman meant.
C. In the fifth paragraph, the first “it ” has the same meaning as the
second“it”
D.The woman got nothing but the shadow of twenty-five cents in the
end.
4. What do you think of the judge after reading the passage?
A.He was foolish. B.He was clever.
C. He was neither foolish nor clever.
D. He was kind enough to give the woman twenty-five cents.
5.What is the best title for the passage?
A.The Smell and the Shadow B. A Poor Traveller
C. A Rude Woman D.A Woman and a Traveller
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Passage 4

SPECIAL EVENTS THIS WEEKEND
Captain Goodfellow
Do your children enjoy interesting stories, funny games, and exciting
dances? Captain Goodfellow will be ready to teach all these things to
children of all ages at the City Theatre on Saturday morning at 10 : 00,
Free.
Walking Tour of the Town
Forget your worries on Saturday morning. Take a beautiful walk and
learn about local history. Meet at the front entrance of City Hall at 9:30.
Wear comfortable shoes! )
Films at the Museum
Two European films will be shown Saturday afternoon at the Museum, .
Theater. See Broken Window at 1:30. The workers will be at 3:45. For
further information, call 4987898.
International Picnic
Are you tired of eating the same food every day? Come to Central Park
on Saturday and enjoy food from all over the world. Delicious and not
expensive. Noon to 5:00 P. M.
Take me out to the Ballgame
It’s October, and tonight is your last chance to see the Redbirds this
year. Get your tickets at the gate. It might be cold*--don’t forget sweaters
and jackets.
Do you want to hear“The Zoo”
“The Zoo”, a popular rock group from Australia, will give their first
U.S. concert tomorrow night at 8 at Rose Hall. City College.
1. You can probably eat Chinese, Italian, and Arab food
A. at the front entrance of City Hall
B. at the ballgame
C.at 5:00 P. M.
D. at Central Park on Saturday
2. You can see movies at .
A. the City College B. the Museum Theater
C. the City Theater D. the Central Park
3.1If you are going on the Walking Tour, don’t forget
A. your worries
B. your beautiful walk
C. your learning about local history



D. your comfortable shoes
4.The Redbirds ballgame

A.is in the afternoon B.is outside
C.is at the gate D. might be cold
5.“The Zoo”is

A.a park with lots of animals there

B.U.S concert

C. a music group

D. going to give the concert at 8 A. M. tomorrow

Passage 5

Scientists used to explore(##l)on the surface of the ocean. Now they
are exploring below the surface, too. They want to know about ocean water
and the plant and animal life deep in the ocean.

In 1934 the scientist William Beebe dived 3000 feet below the surface
in a hollow steel ball. In 1935 August Piccard dived 10 330 feet. In 1960 his
son Jean dived to a depth of 35 800 feet.

All these early dives were deep. But the divers could not stay down for
very long. They had to come back up to the surface after a few seconds.
Scientists needed to stay down longer to study life below surface. Gradually
they succeeded. Cousteau, a Frenchman, was able to keep men down to a
depth of 36 feet for one month and to a depth of 90 feet for a week.

Now scientists are developing even better equipment. With this new
equipment, men can stay below the surface for days or even weeks. In 1962
Cousteau set up a research station 35 feet below the surface. Then in 1964
he set up another station on the ocean floor of the Red Sea. This was the
first undersea station to operate without help from the surface.

Many countries are now studying undersea living. The former Soviet
Union has an undersea laboratory in the Crimean Sea. The United States
has a laboratory 50 feet down on the ocean floor off the Virgin Islands. In
1970 five men lived there for two weeks. Then a team of five women
scientists stayed in the laboratory. Next came other teams of men. All were
there to explore the ocean depths and to make plans for the use of its
resources. Scientists hope to find enough mineral, vegetable, and animal
wealth there to provide food for the entire world.

1. In order to , scientists are exploring below the surface of the

ocean.
A.know about the ocean water deep in the ocean
B. stay down longer to study life of the plant and animal below the
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surface ,
C. know about the plant and animal life deep in the ocean

D.both A and C
2.Who made the deepest dive?

A.William Beebe. B. August Piccard:
C.Jean Piccard. D. Cousteau.
3. Who set up the first undersea station?
A. A Frenchman. B. An American.
C. A Russian. D. The passage made no mention.

4. Which of the following statements is true?
A. The early divers could not stay down for very long.
B. Up to now only five women scientists have stayed in the undersea
laboratory.
C. The purpose of setting up the undersea laboratories is to make plans for
the use of the resources in the ocean.
D. None of the above is true.
5. The author wants to tell us
A. that scientists try to explore the ocean depths
B. that scientists try to make use of resources in the ocean
C. about the secret of the plant and animal life in the ocean

D.both A and B
Passage 6

A Man or a Mouse?”

/Words:208 Minutes: 5/

Are you a man or a mouse? When people ask this question they want
to know if you think you are a brave person or a coward. But you will never
really know the answer to that question until you are tested in real life.
Some people think they are brave, but when they come face to face with real
danger, they act like cowards. Other people think of themselves as
cowardly, but when they meet danger, they act like heroes.

Lenny Skutnik had always thought of himself as a nervous person. He
got worried before examinations. He worried about his job and his health.
All he wanted in life was to be safe and healthy. Then, on 15th January
1982, a plane crashed into the Potomac River in Washington. Lenny went to
the river to see what was happening. Then he saw a woman in the ice-cold
water. Suddenly Lenny did not feel afraid. He kept very calm and did a very
courageous thing. He jumped into the Potomac, swam to the woman, and
kept her head above the water. Seventy-eight people died that day. Thanks

.9 .



